Paper: B.E_B.Tech
Set Name: |ltem25
Exam Date: | 29 July 2022
Exam Shift: | 1
Langauge: | Malayalam
Topic: Mathematics-Section A
Item No: 1
QL{estion 100201
ID:
Question
Type: MCQ
wemo {1, 2,3,..., 60} -@lad M @r@lealss ®amuas 6] Glealaum @den R.
Question:
R={(a b) :b=pq, p,q = 3 DO @RRIR Mo6}. af)el@d, R 6Rl @RCUETBRIOS af)eNo :
A: 600
B: 660
C: 540
D: 720
Topic: Mathematics-Section A
Item No: 2
Question ID: 100202

Question Type: | MCQ

Question: 2=2+3i @OV, 2° + (Z)° oM :
A: 244

B: 224

C: 245

D: 265

Topic: Mathematics-Section A

Item No: 3

%festion 100203

Question MCQ

Type:




A, B Al 3x3 a@ g o oM Oloe mdSlgiamaoem. @oauicd AB &0)

tion:
Question 1)ER\MI(SIRROMDYN.  ag)ssl@d
A: coalQ MVMAUIB (IO AX=0 H6) ofSD0(® MAello.
B: coafl@ MIVAIIE:) (AIUMNIBZHD AX=0 £ @CIAI®EBRI0T @Romd:o
al@lano0633®@d
C: B 80} (oI@flceiom moSlgsoem.
D: adj(A) 80} (ITleRIm MmO(Slg06em.
Topic: Mathematics-Section A
Item No: 4
Question
ID: 100204
Question
Type: MCQ
1 1 1 1
+ +..+ = , @DH6L0M),
Question: | (20 —a)(40 —a) (40 —a)(60 — a) (180 —a)(200 —a) 256
Q)@ a WIOS alo@oUW] mpeljo :
A: 198
B: 202
C: 212
D: 218
Topic: Mathematics-Section A
Item No: 5
Question
ID: 100205
Question
Type: oS
X — g
_ i 28 B ftymmx 2 B, v € R @owo@d earldeamaidia wdlagoemae
Question: | x50 R 3
@ ?
A: o +B2+v2=6
B: o +By+ya+1=0




C: a[32+[312+'ya2+3=0
Topic: Mathematics-Section A

Iltem No: 6

Question ID: 100206

Question Type: | MCQ

7
Question: v
LD dx apyOn® :

@(@L g 3+25mx+msx )
A: tan—1(2)
B: tan"1(2) - =

4

1
c: “tan"1(2) - =

2 8
D: l

2
Topic: Mathematics-Section A
ltem No: 7
Question
D: 100207
Question
Type: MCQ

USlanOMa @ VDOIOB: |0 (1 . ez,;)[d_y s y] =1 0@ aldlanoEMmOW ¥ =y(x), (0, %J
Question: dx
agm endlazaflepes smmyealodim) g, lim e y(x) agome :
N—pco
A: E
4

B: 311.




C: i
2
D: 3_11.
z
Topic: Mathematics-Section A
Item No: 8
Question
D 100208
Question
Type: MCQ
4
bx+10y—8=0,d 2x—3y=0, be R - {5] )M @REUWD Bglmsiom milaiallepes
MHSMYGIdBIM GoEeIWIeM L. coed L enflaz) (1, 1) -26S &HSMIGalddsld®)o
Question: .
17(x%+ %) =16 ag)™m QAYEMO®D Maldudlenimmio 621gm). agieErld, Aldealalmmo
x2 2
= i—z =1 6 ORDEHMBBWIE :
2
A: LT
NG
B: E
5
1
C: —
J5
D: E
5
Topic: Mathematics-Section A
Item No: 9
Question
D 100209
Question MCQ

Type:




enfla3y A(—1, 4, 3) -l dflon’ @elo P : 2x+my+nz=4 -GAISNEE Llo6n @156

I0BETION V21806 §dir0d [_2, Z, E] @M. af)ssl@d, melo P @ allom),
Question: 2 2
WQOBHHMD COGHPMY 3, —1, —4 EDW CO6IHE MVMONMOMOWS, nilaz) A -wlealisanes
BJ00 8
A: 1
B: /26
C: 242
D: /14
Topic: Mathematics-Section A
Iltem No: 10
Question
D: 100210
Question
Type: MCQ
— A A= A A A — " — (—} - — —
a=3i+j, b=i+2j+ k@M. ¢ af)iM OUMSD, a x\bx c/=b +A\c
Question:
- = .
OWDOHHNGRM). b, ¢ HAI MAOMMODeLREIE Aes afleema) :
A -5
B: 5
C: 1
D: -1
Topic: Mathematics-Section A
ltem No: 11
Question
D: 100211
Question MCQ

Type:




saudlem alseames il A gl allom saldlend me-clealeanes cnmiesnsm a @jo
enflosy A ol@d mlom 9 @emiQie@d alslenmod modlayes enflagy B ole alimes

Question: _ . o
B3061M0 cos 1[%} - @lo @@em. saudl@ mlm enflmsy B fleaisnas cyoo 15
eI e-td @ReEM®I@, cot a ag)M@ ---------- @em.

A: E
5

B: 2
5

C: E
3

D: z
3

Topic: Mathematics-Section A

Iltem No: 12

Question ID: 100212

Question Type: | MCQ

Question: (IV®IUM (p A q) = (p A 1) -0 VAIMAIQ®D) :
A: q=(pAr)

B: p=(pAar)

C: PAr1)=(pAqg)

D: PArq =1

Topic: Mathematics-Section A

ltem No: |13

Question | 190213

_I(?;pees:tion MCQ




WdareBDd A(a, 3), B(b, 5), C(a, b) @RW (@EL:0eMEWOM alBlOE® Gr(M30P(1, 1)

Question: | @@em. AP ag)™ s, BC agym soeue@ enilasy Q(k,, k,) &®d euemuleanmmy. ag)sslad,
k, +k, 0 qvowmo@ aflale.goen :
A: 2
B: E
7
C: E
7
D: 4
Topic: Mathematics-Section A
Iltem No: 14
Question
D: 100214
Question
Type: MCQ
Fay
N2 QLY@ @ @6l BOUBSO}ED a, b Daellsilenas ea0emoeny E 8 ag) M@,
Question: (,\ A) N N o
a+ b/, (a +2b + 2(a x b))o@mﬂ OUBHSOLB-DRESTRNes @06 @D6eMB:IE),
164 cos?0 @yes melio :
A: 90 + 272
B: 45 + 18+/2
c: 90 + 3+/2
D: 54 + 902
Topic: Mathematics-Section A
Iltem No: 15
Question ID: 100215

Question Type: | MCQ

Question:

5

If fla) = I I?g%tt dt, a > 0, then f(e®) + f(e ™) is equal to :
1




A: 0
B: 2

Z

9

C: R

loge (10)

9

D:

2 log. (10)
Topic: Mathematics-Section A
Item No: 16
Question ID: 100216
Question Type: | MCQ
question: | {(x, y): lx—1<y=s5- ¥2} g onEmian alogan :
A: E =1 [E} o l

“ 5 &
B: 5_11- — E

4 2
C: 3_11- + E

4 2
D: 5_11- —_ 1

4 2
Topic: Mathematics-Section A
Item No: 17
Questi
Do 1100217
Question MCQ

Type:




al©o@6nI0g P : y2=4x @)OS GalIHHM GHOW @O® @Ml L : y=mx+c,m >0,
aleoeenioge® M, N agyrml enflmsjeedlad @-emmsiom). e6anq|deeniog H : x2—y2=4

Question: " G
-6} O®IS)UOWEN eoel L. al®oemnlog P @yes wldado O @jo H &} @andHem)
F, x-@oademileal ealomiglal alveme eowom oladeieo OMEN 6@ aloaleal :
A 2.6
B: 2+/14
c: 46
D: 414
Topic: Mathematics-Section A
Item No: 18
Question ID: | 100218
Question
Type: MCQ
a063ad® f: R - R,
Question: f(x)=|x—1cos| x—2| sin|x— 1|+ (x =3)[x2=5x+4]| @, f WlanOWaHenID BYBOBD)
endla3ienIes ag)emo
A: 1
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 19
Question
D: 100219
Question
Type: MCQ
Questi S=1{1, 2,3, ..., 2022}@#>)mM). HCF (n, 2022) =1 @0H6)M, 16Mo S -@d Mo (a0adl@.
uestion:
@0 ag)SHENM Vo6, n -6XY TVOBI® 8
A 128

1011




166

B: S Lia
1011
o 127
337
D: 112
307
Topic: Mathematics-Section A
Item No: 20
Question
D: 100220
Question
Type: MCQ
F(x)=30"=2+4 x ¢ R. @oen™ ag@l@d @arldeniom imoainegdd ndew ?
P:x=0agMm® f- 6 censndd daino @ow enflagaioen.
Question:
Q: x =42 afmM® f- 6 oo} Boad eMBogeumosm
R: x>+2 agyma® f' encdsiondler @oeny.
A: P @lo Q o mo(@®o
B: P @jo R o md(®o
C: Q 80 R o mo(@o
D: Qg0 P @jo Q oo R o
Topic: Mathematics-Section B
Item No: 21
Question
D 100221
1Q_ue§tion Numeric Answer
ype:
Questi S={0 € (0, 2) : 7 cos?0 — 3 sin?0 — 2 cos220 =2} @VBYM). GBI, RO MVDOLOB 6B
uestion:
x2—2 (tan0 + cot?0)x + 6 sin®0=0, 0 € S -OPWo OISIGHROS TY> @o6r.
Topic: Mathematics-Section B

Item No:

22




Question

D: 100222
Question .
Type: Numeric Answer

X1 Xop o ooy Xog )T 20 (fl@ltemenBEeS MO0, GUBIMMY ag)milal @Lndi@no 15,
Question: | 9 @@eM. ae R -@ (x;+a)? (x,+a)? . .., (X +a)? afMalend mowio 178 @O, o

oS alomoaluwll mlelyesiland aldvo @6M).
Topic: Mathematics-Section B
ltem No: 23
Qgestion 100223
ID:
Question .
Type: Numeric Answer

WQOBHM COGHPMY a, —4a, —7 GO® CO6U, WDOHHUMD EOCaHJOM 3, —1,2b so b,
Question: | a, —2 H0 @YW COEUMHERIS LIOENIMOE). CO6 — sy 5> = = BBlo 1~y +2=10

a- +b a- —b 1

- @@ wysleajoym enflas) (a, B, y) @O@IM, a+p+y M) @em.
Topic: Mathematics-Section B
Iltem No: 24
Ql.festion 100224
ID:
_CI_)ue§tion Numeric Answer

ype:
X a
Question: | a,, a,, a,, ... GO TVOAHOECURENIQS o). Z 5;— = 4 @YWIB, 4a, aGOMN®
r=1

Topic: Mathematics-Section B
Iltem No: 25
Question | 100225
Question

Type:

Numeric Answer




[%ﬁ + %) -00} aflapefleoemormad % -0 BB BSIM (HoET@ EE)

BONEM (MIlNMes 5-00 alBOlo @OCUMIM BIM@BNIMES 5-00 aldalje modleyas

Question:
@oovoerlMo 6 ;1 @DEM. @SEO@BIT MlaMes @O0 alBo % @OEEM I, o
es allal @em.
Topic: Mathematics-Section B
Item No: 26
Question
D: 100226
Question .
Type: Numeric Answer
a 0, 1 QI CEAINQFOT @0, afLld CORIN|SIOMEHROSWI0 Db B0}
tion: o
HESTOM ! oz {06 JIMOW 3 X3 (HOEBIL)as. MOSlgHaNs ag)eMo @6,
Topic: Mathematics-Section B
Item No: 27
Question
ID: 100227
?ues.tion Numeric Answer
ype:
P, P+2 QU @ORILY (Vo6 JBE06.
p (p+ 1! (p+2)
A= + 1)! + 2)! + 3)!
Question: (p " P " e ) @RI
p+2)! (p+3)! (p+ 4)
pP% (p+2)P egorial A 6@ andlesmMmienisld, o, B @OS alemnIw]l MIElETRmOS &
@) @Q6I).
Topic: Mathematics-Section B
Item No: 28
Question
D: 100228
Question

Type:

Numeric Answer




1 1 1 1 k
+ + + ... =
2x3x4 3x4x5 4x5%6 100 x 101 x 102 101

., @M 34 k

Question:
ag)oM®) I
Topic: Mathematics-Section B
Item No: 29
Qtfestion 100229
ID:
1Q_ue§tion Numeric Answer
ype:
Q S={4, 6,9}, T=1{9, 10, 11, ..., 1000} @DEENM). A=[al+a2+...+ak :k e N, ay, Ay, Ay, .y
uestion: %
ay € S} @MW wemo T—A WIERSs afejo @OONETBOIOSWI0 @) @M.
Topic: Mathematics-Section B
Iltem No: 30
%‘feStiO” 100230
?ues.tion Numeric Answer
ype:
eo6l y=x+1 - 6m @OSIMNOMMIBE] AYEDO ¢; : x2+ > —2x— 6y +a=0 -@}OS Bq|em
Question: | endloénlo ¢, : 522+ 5y + 10gx + 10fiy + 38 =0 @@EM]. AUYEDO ¢, - O @DOO Y BYRIMI,
a+612 ag)Mm® @Y.
Topic: Physics-Section A
Item No: 31
Question
D- 100231
Question MCQ

Type:




@OCUSHOCOIBO (A) :

60} (300U ®aElwins eaoeImemilend erndemmdoalo (T) GO (Imealenrinjmow]

(S) euwe|Slelenimmy. (BOUBHOTOM MOMm® p -0 EEIWOS @O T -Ho

3
@eeMesld, T =K F’Vy ag)M® eewenmademell tudl@oem. eafles K agomay
q/2

Question:
£OUEDMDAHM 0|0 auleoE:Mo6T).
Hooemo (R) :
OOWOHRMarIM@ MBS MBIl RHS -m), @pdemm oaliesfldd allonio
QUEINIBDO HOWSDMWaHMD @DHEMM] AlElH60.
A: (A) -@o (R) -@yo vadloem. (R) agmM®@ (A) -@ies todl@o® Qfltodlda-oemalmosm
B: (A) -@yo (R) -@yo todloeny. (R) agymal (A) -@ies vadlwow allvedla0emmg)
C: (A) vdl@oen (R) emEo6
D: (A) empoeny (R) voml@oey
Topic: Physics-Section A
Item No: |32
Question
D: 100232
Question
Type: MCQ
80} (IE®d CAUNOUI@ DhEICRINHOHTIMD ol h ag)Mm SWAXHIE ag)®Ysl. @o®y
Question: | MIHEIGEIHE GalOdhIEMIOPI0, MICYHE QUBIBMUOPI0 % Q)M HQEETI@ ag)®m M
MOWEIRW ®ONIANRS @RMII0®ED(® ?
A V2 -1
2 +1
: v3 — 2

3 +42




c V3 —1
V3 +1
D: l
3
Topic: Physics-Section A
Item No: 33
Question ID: 100233

Question Type: | MCQ

: dx
Question: H— = -
t=x + 4, [dt]t:; =
A: 4
B: all&\o
C: 8
D: 16
Topic: Physics-Section A
Item No: 34
Question
D: 100234
Question
Type: MCQ
B0} QU EMoH \ElDlaies adlmimvacdmm aloellm’ (groove), all@Ewlcal® caldsel
@M@ aloent Eleml@ens. m dOqIes B} UM®y, Elemlewos) ¢oldan
v U@ meUdlHniM). MY ®MIEleaM@I@ aR® oad @R, Elorsialsd
a oo almimynfleaisanas emoda@ snieiale (N) clmiopalled ealnm@le (v) modleles
uestion:
ermuo Go@lo &o6rml.afldlaanyma) ?




A
V
N
B:
v
N
C:
v
N
D:
v
Topic: Physics-Section A
Item No: 35
Question
D: 100235
Question
Type: MCQ
E 0allehodoenias 60} 6aloxkesenesa alovallmamoel 60° agmm esoemaalldd
Question: | afledHallo)). @odio alosnelen apralio pdmM mimialeea oo naiesodmeo
af) @@l @000 ?
A: allZ&o




B: E
2
C: E
4
D: E
Topic: Physics-Section A
Item No: 36
Question
D 100236
Question
Type: MCQ
1 kg @oqio, 3 kg DOqRIMIBR 6N AUMI@IHNSIOS quAOM ME1REIRM @LNO(HDo
D +2] 4 o —af -2} + 4 ! 9 gy o sond
-@lo —3i — - 6m. 6N e e 6000 DOVIe
Question: s ja B ]+ o @O 8 ) (@ (@ (F@ f@
qnom qudlueevsiled (Position vector), al@l@oeme (magnitude), o6 @ildleainmail@d
@} MElueEnilen aldmosmersimy mielmosny ?
AN A
A: i +2§ +k
AL A A
B: -3i —2j+k
A A
c —2i +2k
ALA A
D: —2i — § +2k
Topic: Physics-Section A
Item No: 37
Question
D- 100237
Question MCQ

Type:




@OCUSBIMD QU0BO (A) :

ag)gNEe®o (Flemo &0dt aldlafislafldlenim ®iamlectd oalaamalec@ouil.ef &9l

Question: | QYT QOBHOMOBIE).
Homemo (R) :
ag)e/ Wilmge eaugsallo ®adlenas Mialddmed-oend (angle of contact) Benismy” @6,
A: (A) -@jo (R) -@yo vodloem. (R) agMm® (A) -@j6s tadl@ow alltadlaoemalimosm
B: (A) -wjo (R) -@jo vadl@oeny. (R) egyma) (A) -@es edl@ow aflvdlsoemag)
C: (A) vo@l@oem’ (R) exmgo6m
D: (A) emgoem (R) vocloey
Topic: Physics-Section A
Item No: 38
Question
D: 100238
Question
Type: MCQ
80 Udle@ migo orglallenibwio, @O0 aldiElWoseHWIo 621G @oailen
Question:
ey @moaRITNSlY ag)mm} qvocilesio ?
A: moQAR6O® ®ISOo
B: 8 ms6vROW &S0
C: moelleanmmoefl &l0®io
D: moel’ msSeIRoW] dhiS)o.
Topic: Physics-Section A
Item No: 39
Question
D: 100239
Question MCQ

Type:




80} CUOMETIOM Ca@Hi0ddd Mo L mlamias a0y almlid ealmaw)elo

600 OB DSB8, QAUSAOMo a -GHo6MI@ aldlaes e} aldlenm almimmodmm

Question:
(I@EIOTILROS ®ICLHN] QUMM Haldaieleman GoAIdEmM Hoelo _ N
@ @leelo.
A: 2m/L/ (g cosa)
B: 2mJL/ (g sina)
C: 2mL/¢g
D: 2m/L/ (g tana)
Topic: Physics-Section A
Item No: 40
Question
D: 100240
Question
Type: MCQ
80} 6108 Mool (symmetric) a8 210d& allmoemeieon alobe MomomWes
AUET@OMo @I MMICAIOOEIWOENT.
3 r
p(r) = p”[l - ﬁ)’rs s
0 ,r>R
Question: | e0ANl®S r(r < R) af)M@ EH(MBEEIE Mlomas @odhalimoen (ali@esical® caloeal).
P -agm caiodld@loal eeaicym esx(@o ag)@® ?
A:

E[E_LJ
4eg \4 R




r (3 I’J
B: 28 s
3gg \4 R
4:Eﬂ R
o P T [1 _ L]
€p R
Topic: Physics-Section A
Item No: |41
Question
D: 100241
Question
Type: MCQ
lali@oaIm I : 210815688105 (almealmilaljo @ @lomwiasiello Al (Sld
£al06gMayyd cudlomoldleeo.
Question: | (a1mi@mocum II : 80 2l0dRIA 2I0BIHOTINN (I@AIEHIM] OMOT all00NI8R
eealcumesH(®@o (field) (meimdloa agglo enflaziallelio
(@aeslm’ aloenimo@ldlesio.
A: lmi®moalim I o II o vedloem
B: li@moaim T oo ITI o exmgoem’
C: elmmoalm I wdlwie, IT e®mEimoeny
D: lmmoalm I emglo, II vodl@imoemy
Topic: Physics-Section A
ltem No: |42
Question
D: 100242
Question |\~

Type:




BCO @PRAIIHRIAR M CRI0aD AUWOIH®D ewyerlal@ caislafl afleleanimy. oene

Question: | QUQOIHEINS EOCUGBR® 2I0LIB®BHWD 0 -60, T, -0 @VEEMEIT EHOMIemaued manel
2 I0BIH®EOQ(® ?
010
A: 172
01 + T2
2090
B: 12
01 + T2
o1t o
C: i
2{}'1 09
o1+
D: 1772
g
Topic: Physics-Section A
Item No: 43
Question
D- 100243
Question
Type: MCQ
¥2 H sndanssada’ @nsenslwlaleniom em) qudss|Slah 6@:051860m @01am emf
m
Question: g s 5
E=440 sin100wt @m@en. @o@lemos s} ac @pailgd caiSlallolod @oaiael Gl
af)mWdleeo ?
A: 44 A
B: 1.55 A
C: 22.A
D: 311 A
Topic: Physics-Section A
Item No: 44
Question 100244

ID:




Question

Type: MCQ
1 H endabssmmio, 100 Q (al@fleeowamies 60} el 6 V enlogaleimow]
agigla [l fldleeiomy,
(a) HOG eallean equaulleand meNElon aldl®il @RE:IOIOMSIHNINM MAWWED(® ?
Auestion (b)  AHS B0eMoSSIREIM) Coato 15 ms HFIWIECMIOWD, &HONTIld Dembeloslod
cuoal@la] ealafldlenimm eod®eo ag)® ?
(In2=0.693, e=3/2=0.25 ag)m} ®deaHIM,)
A: t=10ms; U = 2 m]
B: t=10ms; U = 1 m]
C: t=7ms; U =1m]
D: t=7ms; U =2m]
Topic: Physics-Section A
Item No: 45
Question | 100245
_IQ_;pees:tion MCQ
eflgy - I eflgy - 11
(a) UV-#loememd (i) eoow mldepemsiay
Question: | (b)  X-&lEEMETBUD (i) eauaso 0a3allossINM
(c) OOHDEBO BOOUETRUD (i) UOdEmO Allrla@eriimie oaodialo
(d) e0MENIOHOUT BOCWETBU (iv) 6andw) 688 AlaMVSTBEIOA! dhoFal )50
A (a)-(ii), (b)-(i1), (c)-(), (d)-(iv)
B: ()-(i), (b)-(3), (c)-(iii), (d)-(iv)
c: (a)-(ii), (b)-(iv), (c)-(ii), (d)-(i)
D: (a)-(iii), (b)-(1), (©)-(i), (d)-(iv)
Topic: Physics-Section A




Item No: 46
Question
D: 100246
Question
Type: MCQ
al@®M (alBHEBIOMN ®oow HeBAN0 N @RB:IEMIORD ENAIGESIIOM NEIEHmId2Ro
Question: | E @oem. @rallom mielo 2E @6l &@b@memens:l@d, (aladue@milon @oomneecdasljo
Qg)O@IBeMo ?
A: L
EN — he
B: hcA
EN + hc
C: L
EN + hc
D hcA
EN — hc
Topic: Physics-Section A
Item No: |47
Question
D: 100247
Question
Type: MCQ
OBOWRM EOROTIOL! EDRIHESOM (D
(i) @emiUdlenea]s eemsoaaem diladid mlmmie @a) rlaliealds) Galddiemiowio
Question: | (ii)  @PMUdIENOAS aROlo H@BMM &b Mladid allimye eaeEm oileliealds)
BalOdhBMUI0Y)0,
HEMROBHIMN BaNOEZEMIBHRINS HVDLREIBWD ®oFleles @omialomo of® ?
A: 3:4
B: 4:3
C: 1:4
D: . g




Topic:

Physics-Section A

Item No: |48
Question
D: 100248
Question
Type: MCQ
8 V aymll@omalio (variation), ale@oaiuwl @@l 9 V -o &0 AM -Gmoanieal oy’
Question:
®ONBTOHM CMOWIERIHUMD EOMDABMT 6N aISIde) b,
A: 0.8
B: 0.5
C: 0.2
D: 0.1
Topic: Physics-Section A
Item No: 49
Question
D: 100249
Question
Type: MCQ
803 MHH00M OODE(HOIMEHIaflo) aawld mesdleld ao) oava@lalgold
20 adlaflaymids8lo, HUdM@d maHaleldd @oed 50 aslallatmidhalo §ene.
Question:
25 eaudemld minswleld ulallarmisales ojelo 24 ool Miednhelad ullallanmy
®LNDOEEMEIE D HODEB:OMIEHQflOM 61d0.2J80T (least count) ag)Mmodhlo ?
A: 0.001 cm
B: 0.002 mm
C: 0.002 cm
D: 0.005 cm
Topic: Physics-Section A
Item No: 50
Question
D: 100250
Question | 1~

Type:




Mk} ENRIICQIUa], AUAIOHM AOMVAHNIMIBR AlBlHUEMBTIE BOOY HOMIM

BHORYETBUD HENS].

o =g |

Question:
(A) 0] ®OUEM ALIUM HOIBIETUWD, Mildh) el Mieselelldd 0.5 mm aflsosiom,
(B) auje®odm@llaianas miedalalled @oed: allaflaumidcd 50 @ren.
(C) ool nieselad dladless’ 2.5 mm @oen).
(D) cuyem mieenailaland 45 -0 ae adlaflamd allo) clewieoeny
(E) &aldoem@iay 0.03 mm emuglal allved: eene.
adlend aocen(@ ?
A: 2.92 mm
B: 2.54 mm
C: 2.98 mm
D: 3.45 mm
Topic: Physics-Section B
Item No: 51
ﬁxesﬁon 100251
_I(?}l;lpees:tion Numeric Answer
60) AUM®Om (oo (alelo u -eljo 0 -esHoemaailelje alledallafldleniomy.
ellogHeesalam eosml R alonoldl@odym allwacem) @oalem memiono. neRon]
Question: | ealogsmeesellom, soea’ eMECED®INM ald)@lokim allwo afleduall o],
EMBUMOIBEICRIW0 (A10M0@ (alECUMEBW BMoeM. MEMBOAOMD 6)(al0Ld:6)6SMd
afledtiall o) afledsalem @H0eNd il @rem.
Topic: Physics-Section B

Iltem No:

52




Question
ID:

100252

Question ,
Type: Numeric Answer
B0lwIes ealdlmealdmilad allimio, h ®@oo (h << R)) aidhsleo ah @RYoeymes
GalolRmellonl, Galo@d AMI®HHWDBHE @RMIBOUNQSIOM GINIO®)] @I0EMo BSOMIENT).
Question:
o -@IeS mialjo @YEI).
(R,=6400 km ag)imiale@ouslde s )
Topic: Physics-Section B
Item No: 53
Question
D: 100253
?ues.tion Numeric Answer
ype:
60} BI@IERIAIE: QOGO ['y = Q odgo P; -©o, MOM@® d;-9o &alergn mod]
vt P,(>P;) -90 d, aimowf, &8} qudlo agMe(soafl (UdEHMETIEeS @0y
uestion:
QUO@HEIONNG Moalrilal dS@OM Erala) @Ry @elETand MSEBBIHYM].
(‘;_2 =32 ag)(my ®MIdlesiomy)
1
Topic: Physics-Section B
ltem No: |54
Question
D: 100254
_CI_)ue§tion Numeric Answer
ype:
60} CMOW afdh0oCRIMd AUIBBH@BTIOHM MM CMOWD BJWICRIDIH QUMW
dHSleo)jdenmmy. cudle alpamesiiea a@®Ewlen emogldyaod minalmladles acdlg
Question: | 2
TR J/mol K @o6emesl@d a-wins mielo @eN).
(@aridleninm cj@oeRoaile: OB 66 UEENIaHeMEd cmoa) negjaTy vl flee )
Topic: Physics-Section B

Iltem No:

55




Question ID: | 100255
?ues.tion Numeric Answer
ype:
@261 @Bl TVAHSISILIESHOLIMINN dhONF A @ERWIdlH60.
90 90 9
Question: YWV YWy Wy
LA
L
"6V
Topic: Physics-Section B
Item No: |56
Question
D: 100256
?ues}ion Numeric Answer
ype:
aigen @esiallaf 2idl aldlemmidleniomn 5 cm EREMIRE (YEmOH)EI]eas 6o} G0wsmd
@RaileM e (rREIEd 37.68 X 10 ~* T #:0mild: membealo 9ems0ds)l. dsodlallanswas HO
Question: ;
A @em.
(EDoOE: 21)QH810S agieo 100 agiMio m=3.14 ag)IMIOAS)H6)E)
Topic: Physics-Section B
Item No: 57
Question
D: 100257
1Q_ue§tion Numeric Answer
ype:
41, 91 (1000 BIUDBHD OR8 O (ald0o0o nflmisd 60y Mildlniled enMmMdadl@d
eigumMy. mikladlea A agym ealtodid@lesal, milaysdssisaiea sanmialmlwomo
Question:
aljgialjo, B -ldd 7 -@ymoeny. A -afleaimio B -aflcaimio Mmanal aflai®mstd monileas
QU@L I @o@ldleago.
Topic: Physics-Section B
Item No: 58
Question
D: 100258




Question

Numeric Answer

Type:
314 cm mlgallo 14 A HOM SYihMMmINI® 80) AU®D AIgal 80 Qoo
Question: | ©MROBHIDI@B6IM]. EHOWLNOR BHOHS HDOODT A-m? @6
(m=3.14 agm eidleninmy)
Topic: Physics-Section B
Item No: |59
Question
D: 100259
_Crlue§tion Numeric Answer
ype:
M;, M, o)™ @0o2lnaBaI® MoWneaBa1es @@AETI@o] X-Y -(al®el6 o
HEMBNHN00. Z=0 -6 988 M, -M) @aldommomo V2 @en. Z<0 -@ oas
L — A A A
Question: | \f, -my @PalIdEDMOBo 3 @io. M, -@ mlmio P =437 —343j —5k agam
laldbowdsleemo, allezm (imealedflad almy al@llall. M, -0l al®mMEsHemio, M, -6el
@Al QUAGHM CH06MIo MOTILREE Q@O0 Sl BRI @lee0.
Topic: Physics-Section B
ltem No: |60
Question
D: 100260
Question ,
Type: Numeric Answer
p-n RoUWaHM] d01OHQIER 6)nloesMayy@d eniodled 0.6 V emem. 6x10~°m aflelloes
Question:
g flaxad eoalaiilenl, snais|Sles) adlddallon ol x10° N/ C @oidlesio.
Topic: Chemistry-Section A
Item No: 61
Question
D: 100261
Question
Type: MCQ
BOOYWIBR @ ®MADO@O ERISIHEIRI06M WINJEhMe B EDAIMK:ESIMND @ MDMO(@d:EI0
Question:

allamilafle) @oadis @dao@Halo peae ?




A: BCl, &o SF, &0
B: NO &0 H,50, 80
C: SF, ®o H,50, 8o
D: BCl; &0 NO 6o
Topic: Chemistry-Section A
Item No: 62
Question
D: 100262
Question
Type: MCQ
Mofg +Elpel = 2NFLL)
20 5
Question: & &
6112188 (alldEmmo aldlwendla], e (alademmaersieal o mde:-0Ele:00d:0jo NH,
QOS IORSIT CRO/RIMENS ag)eIRQI0 @LOJd@O -==-======- @en.
A H,, 1.42 moles
B: I—Iz, 0.71 moles
C: Nz, 1.42 moles
D: H.,, 0.71 moles
Topic: Chemistry-Section A
Item No: 63
Question
D: 100263
Question
Type: MCQ
250 mL enfleedl@d, Reiellad NaCl 6@ 5% (w/v) eowmles 100 mL 9enzossll. NaCl
Question: | enowldleass) aigel@ dlomaies Go@en il 8¥lesie@io MmMOITS H8BNB:® o
6010®). HMBHEDIdleenM Ao @Y :
A: ellecaoadlellss emowd
B: ellecwoganoenilsd oD




C: BVORL| B0} afRDaUM @M (ildom]ow)

D: @oCUHHlaTmo @en Henz0W @
Topic: Chemistry-Section A
Item No: 64
Question
D: 100264
Question
Type: MCQ
Na, Mg, Si }@E0QOIWIOS SMoo @REQeNIlE: af)MLoodiall @LOo@mo 496, 737, 786
Question:

k] mol ~L. @gem. Al &) 80Moo @EEWIETSd: ag)o@all (k] mol 1) @oeny :

A: 487

B: 768

C: 87

D: 856

Topic: Chemistry-Section A
Item No: 65

Question ID: | 100265

Question
Type: MCQ

Question: | @RI0AO Mla¥d:dauem@Dilad 110613 ag)M alBo Hale@OUIleanM@) :

A: @ROUWIIRI0E BYA al3odmasmgoelas aellailenemo

B: @DOUWMEE CLIANIBRLI0OHMWIBE CLInOBUW 602188 mellailsenemo
C: UDIALMOW B IMYBIIAD (Aldhy@UOLIIENEIEITN BIMORI WD

D: 60) @AREs oMl HeMETBEILIas @oal(BIEBUD

Topic: | Chemistry-Section A

Item No: 66

%‘feSt'O” 100266

Question
Type: MCQ




milenlo Sl @rRal@ @rde:m @Eesnalwmowigies (IUdEDMEWIE SeneocM®Y

Question:
£6a0WRM Q@B aflom :
A: Zn(OH),
B: Zn0O
c: [Zn(OH) >~
. Ve
D: [Zn0O,]
Topic: Chemistry-Section A
Item No: 67
Question
D: 100267
Question
Type: MCQ
alidl@o eemese cMol®o HOMEISRI0 HAUEQOO 21SIHHIBMIOD @LOD (Mo
Question:
BIEIB6M@ @LAO(BMO :
A: LiINO, &0 NaNO, &o
B: Li,O ®o Na,O ®o
C: Li,O &0 NaNO, &0
D: LINO, &0 Na,O &0
Topic: Chemistry-Section A
Item No: 68
Question
D: 100268
Question
Type: MCQ
SCl,, Oy, CIF;, SF, my@eiooaidfes o) GoROIeR! GRI06MM Hal@OiHaIns ag)emo
Question:
@LAJ(BHDO
A: 0,1,2 and 2
B: 2,1, 2 ahid 0
C: 1,2 2atd 0




D: 2.1, Qatid 2

Topic: Chemistry-Section A

Item No: 69

QLfestlon 100269

ID:

Question

Type: MCQ

Question: | Ml @OCWOEMIMEIT @6 @TIdlHa™M 62RISIMHElT agamonTimoeT) Hadlejomma ?

A SC3+, an +

B: Ti4+, CII2+

C: V2+, T13 +

D: Zﬂ2+; Mn2+

Topic: Chemistry-Section A

Item No: 70

Qlfestion 100270

ID:

Question

Type: MCQ
MRS@ @REREIE BIBMNIAINOW HHIO MOWNETIE, B0} VHBIECWEI® B8NSl dloow
KMnO, o, ®e@oquideanglom aReodeen alodimosmlasnd mwdeanq @i mogomd

Question:
HEI@Io. MY (uUdemMEml@  @oonmlmilen &0 aUld:e6moaluaeflcd
EDOODMOWENEOCUINTN MOQMOE

A: 5

B: 1

C: 0

D: 3

Topic: Chemistry-Section A

Item No: 71

Question ID: | 100271

Question Type: | MCQ




Question: MOOPWIEE GZROSIHEIM aR®ilaloey Hamoudlnile:td mommea® ?
A: @ (UImio AW@otdUlmyo
B: evowll@o eghoecnRlo @G IUIMIo
c: srvoflwo @adMilemylo AoUdullmyo
D: savouil@o egoenqlo cavollwo @dMIlemylo
Topic: Chemistry-Section A
Item No: 72
Question ID: | 100272
Question MCQ
Type:
Question: ®OEPIRADNE AR@OETY VOB HhISIQ GENLIoeMERAUIIOM Hxomo ?
H;C
P
A: :
N: CHj
H,c CHy
“CH,
HyC
%
B: N:
SN
CH, H
“CH;,
e
C:




D:
Topic: Chemistry-Section A
ltem No: |73
Question
D: 100273
Question
Type: MCQ
MOOYWIBR MoWIBMEIBELONS CRISIVI@ ag@moem 60¢Moeemoslavldd Aly®ym®
Question: | @aimemBdd mEM® ? (Consider the double bonds in the structures are rigid and not
delocalized.)
CH;, CH,
A
>
CH, CHj,
CH;, CH,
B: @ >
CHj CH;,
CH, CH;,
C:

CH; CH;
«—>




CH; CH,
D:
<«
Topic: Chemistry-Section A
Item No: 74
Question
D: 100274
Question
Type: MCQ
AgCN NaCN
.‘A.r < g /\ (:] a > .‘B.r
Question: | (2484 @@alemo) C2HsOH—H,0 CH;OH-H0 (e pataiomo)
6D (aludEmmMo aldltemlalom mowidmo ‘A’ @jo Moo ‘B” @lo @LAJEhDO
® © @ ©
A: ) s
<N N=C, <N N=C
B: e oo
<N C=N, <N C=N
® ©
C: gkt s
N N=C, <N C=N
® ©
D: v o
<N C=N, <N N=C
Topic: Chemistry-Section A
Item No: 75
Question ID: | 100275
Question MCQ

Type:




OH

NH,OH P,O
% » B i » C

Question:

wye)
H
2
4
2>
=

CHO

MHEIRNER (alUdGDM eyenl aldlwenl.ojo@, s@alimoe ‘C’ @6 :

Br Br

Br

Br Br

Salzes e




OH

Br Br
D:
CN
Topic: Chemistry-Section A
Item No: 76
Question ID: | 100276
Questi
T;pees: ion MCQ
CH,
Cl
- 1 NH; Br,
Question: A" (CHlgC1,0) CgHCINO NaOH
H,N
MRS (IUd@mMo aldlwenilolodd, mowdmo ‘A’ @6 :
O
A: 'l
O
Cl
B: &1

H,C




O
Cl
C:
Gl
CH;
O
H
D:
Cl
CH,Cl
Topic: Chemistry-Section A
Item No: 7
Question ID: | 100277
Questi
T;pees: on MCQ
+
N=NCI™
sxr . -INaOH v
Question: e 2Pamo
' (8006 - aljala]-210®o)
®069YBRTIM oR® Boaletmosn’ dlee@ ‘A’ @ qollaflenmMma ?
A:

Soh




OH

B:
NH,
C:
NH»
D:
Topic: Chemistry-Section A
Item No: 78
Question ID: | 100278
Question
Type: McQ
0P8BS (aId@DHM @Ue] aldlwenleeid.
NH,
(i) AIH (i-Bu), CH,CHO B
Question: — ‘A > .
(ii) H,O emndaflo) NaOH, A (@6 §®alimo)
CN

e®altmo ‘B” @mem:




A: OHC4©7 N=CH-CHj

2 HENO CH=CH-CHO

c: HzNOmZ—N=CH—CH3
O
I

D. HQNO— C—N=CH CHO

Topic: Chemistry-Section A

Item No: 79

Question

D: 100279

Question

Type: MCQ

Question: | MOAYWIER MoBMETREIGRIB0EN 60} allal@BmMoglds BTaUWEBIM HBANMMODIHERD ?

A: BTV@EAND

B: @066 DRO®

C: @®YMIalodESo

D: &) alomes oIl md

Topic: Chemistry-Section A

Item No: 80

Question

D: 100280

Question MCQ

Type:




@oQ (IEOAIMIES 60} MNoWIHMMO® ‘X' NaOH et aliolsiswio NaHCO,
Question: | 20@M @} 2IQlH60aCle6ih®io 6.01QRMY. BSoe®m Mo@ismo ‘X' mysad FeCl,

el awead oloo moie:wio 6.21Q)2MM). Mo@ismo ‘X' @en)

OH

OO

CH,0H
D: é
Topic: Chemistry-Section B
Item No: 81
Qlfestion 100281
ID:
Question

i Numeric Answer
Type:




KCl &M@ 745 ppm a10@0] dloo] 60} senedsglenvglon (amm mudiooso 129 m~1)
laflemowo 100 © @oem. (alo@l 1 oaflom eosuealsiem). snem amvgflealss) KCl e
149 ppm en@ml Mloglealokd (wmleeowoe 50 Q @l (oalem ao@l 2 agom

CO6UAQ SO 210@0dl 1 Hwie el 2 HM@®Io @ISR 2VEIKLOWIANRE @M I0mo

Question: 5

/\_1 =xx107° @oer. x 6@ a0 @ :
2

(@RS)E® aljdem mosy)
[@cridlen;ma : KCl e @dmo@o @ro 74.5 g mol ! @yeny]

Topic: Chemistry-Section B

Item No: 82

Question

D: 100282

Question ,

Type: Numeric Answer
AT #ogewoailecd@ic B~ @omewosniciiwio @REWIaN Il @osRUd LNd@hao 102 pm
®o 181 pm ©o @@EM. &V GEREWIMIHOY alO@  oJaflldoem@slm
@MY GIE6) JHWOEEMEHIM EPEROET I 6O alB0dMADIMNB0QYMM]. 00 aleeldd B~ o

Question: . . .
Benile dlenflaw musmellmmoemiea®. AT agglo @oarSaneldl@ toymymuelsmssleo
@osetEligiens. ale® AB @ies wiendly exvgflend alssled allgo pm @en.
(@RSIE® aljd6m Mo6y)

Topic: Chemistry-Section B

Item No: 83

Question

D: 100283

_I(?ues.tion Numeric Answer

ype:
2a, 0ilamies 60} afsHnommel GoaldIeal RIBKESIaTIanN CeNMIAILEMBHIM a0
BJ06m @omlualmmio km s~ ! @mem.

Question: | (B0afles a, eniodflend @ooo 52.9 pm

[@mildlenma : eoelsesoemlan oo =9.1x1073! kg

gJosss qudlosmo h=6.63 x 10 34 Js]




Topic:

Chemistry-Section B

Item No: 84
Question
D: 100284
1Q_ue§tion Numeric Answer
ype:
803 aQoM&I@ 0.2 M HNO, @ies 600 mL 0.1 M NaOH e 400 mL mofl
)5 HORIdOTH WER 0w, QoM ®moalmlaidileyamso® aldwm %1024
Question: | @6,
(MY(SOSRICMVaHMD ag)BLNO@a Nl =57 k] mol !
gaimflon alluilaismoalo (Specific heat) =42 JK~1 g~ 1)
Topic: Chemistry-Section B
Item No: 85
Question
D: 100285
Question ,
Type: Numeric Answer
303 K @ gelonflees O, ald®do @h)dladnadw esormlalgeajotd ey ellgd eelwvsia
eIflanm sosmiRm@ aloesowlen algl ecngisains ageno @6 .
Question: | (@ES}E aliBemvo6l)
(@aridlenimae : 303 K @ O, 6 &andl dlloa qudleosmo 46.82 k bar @oerm). #soea® O,
6 @0l md3Eo 0.920 bar @6NT)
Topic: Chemistry-Section B
Item No: 86
Question
D: 100286
Question ,
Type: Numeric Answer
PbS e cai@®) wiemmanal qudlooso 8x 1028 maeemesl@d, 298 K @ tyavgeicmleal
PbS exf eal@mjo x X107 ¢ mol L~! mpaidlenie. x 6} meno @oem. (@S O
Question:
aljdem (Moo6y)
(@ildleeime : 2 = 1.41)
Topic: Chemistry-Section B




Item No: 87
Auestion 1 409287
_?ues.tion Numeric Answer
ype:
X &0 Y 9o monflapgs e laud@mmo X &M @ocaldil o] 8moo 8000k Y 6@ @oGa il of
ali@o B0dWOl0 @EM.
3 [X] [Y] OYSHOEN6) Bl (TSl0He)
A @IEmo mol L1 mol L1 mol L ! min~?
-3
Question: | 0.1 0.1 2x10
11 1 0.2 4x1073
11 0.4 0.4 mx1073
I\ 0.1 0.2 2x1073
m 6io 1 cR®lo meNemlon @omialomo @M. (ERS)O aljdepmvoal)
Topic: Chemistry-Section B
Item No: 88
Question
D: 100288
?ues.tion Numeric Answer
ype:
&0} ellrld essoealaiaangaild (almymim aealemo @ogsmswdgod rildoil.o|@ ) eralieel
Question: | (@edlemo @EREMBRIOS og)ePo) (BalalOegay’ MIMLMEBRIOS ag)eNo)
(@,
Topic: Chemistry-Section B
Item No: 89
Ql{estion 100289
ID:
Question

Type:

Numeric Answer




Olol0eea|Mlon cleniodlemaud® @oalme®D@d, 1, 1, 2, 2- OS(SOG(NIIEMO6) (alda oM

(27% @REOWo) AIElendM elloeealmlealss) 1.0 g aEoalnd ¢aldHsemhweneowl]. 60D

Question: | lIUBEBMEBIE dltmio aldlenym 1, 1, 2, 2 - OS(SIE(eNUOEMe) (aldaloMilen @oaas
x10~1 g @oem. (ali@emmuosly @ielo)
(elenuodlend madmo@o @omo =80 g/mol)
Topic: Chemistry-Section B
Item No: 90
Question
D: 100290
Question .
Type: Numeric Answer
[Fe(CN)]°~ @dogoomic &0} come e0dmnlq@d auesieinoddlenemo
egoslwoaM@IMes 9908o &8¥lalsdl; Y MBAIOTIOMN ol CHU(®
Question:

mudlomiganiealamElwies ©vdgo, Hmmglal A, @en.

(@RS aldemn Moawilealss) o e, )




